

















LECTURE HOURS	HOURS PER WEEK	HOURS PER TERM	TERM WEEKS	CENSUS	WEEKLY STUDENT CONTACT HOURS (WSCH)	FULL-TIME EQUIVALENT FACULTY (FTEF)	WSCH PER FTEF	FULL-TIME EQUIVALENT STUDENTS (FTES)	FTES PER FTEF
54	3.4	55.8	16.4	10	34	0.200	170	1.06	5.3
54	3.4	55.8	16.4	20	68	0.200	340	2.12	10.6
54	3.4	55.8	16.4	30.9	105	0.200	525	3.28	16.4
54	3.4	55.8	16.4	35	119	0.200	595	3.72	18.6
54	3.4	55.8	16.4	40	136	0.200	680	4.25	21.2
54	3.4	55.8	16.4	50	170	0.200	850	5.31	26.6
72	4.6	75.4	16.4	35	161	0.2667	604	5.03	18.9
90	5.7	93.5	16.4	35	199.5	0.3333	599	6.23	18.7
90	5.7	93.5	16.4	35	199.5	0.3333	599	6.23	18.